
14  |  minnkotamotors.com ©2014 Johnson Outdoors Marine Electronics, Inc.

PARTS DIAGRAM

30 

32 
33 

34 

35 

38 

39 

40 

41 

42 
43 

44 

46 

47

48

49

50 

51 
52 

53

31 

37 

45 

1 

2 

3 

4 

5  

6 

7 

8 9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 
20 

21 

22 

23 

24 
25 

26 

36 

54

55
56

58

57

ENDURA C2 50
50 LBS THRU�   -  12 VOLT  -  36”/ 42” SHA� 

2064973 rev K  ECN 35938   7 /14

sleesch
Typewritten Text
for use with "P" serial numbers  2-year warranty

sleesch
Typewritten Text
42 AMPS



 minnkotamotors.com  |  15  ©2014 Johnson Outdoors Marine Electronics, Inc.

PARTS LIST

ITEM QTY
PART 

NUMBER
DESCRIPTION

1 1 2-100-117 ARMATURE � SEMBLY 12V 3.62 

2 1 140-010 RADIAL BEARING

3 1 788-015 R� AINING RING

4 1 2-200-101 CENTER HOUSING � SEMBLY

5 1 2-300-196 BRUSH END HOUSING � SEMBLY 3.62 SPCO 36”

1 2-300-195 BRUSH END HOUSING � SEMBLY 3.62 SPCO 42”

6 1 2-400-101 P� IN END HOUSING � SEMBLY

7 1 144-049 F� NGE BEARING (SERVICE ONLY)

8 1 880-003 SEAL

9 1 880-006 SEAL W/SHIELD

10 2 188-036 BRUSH � SEMBLY

11 1 725-050 BRUSH R� ENTION — PAPER TUBE

12 1 738-036 BRUSH P� TE WITH HOLDER

13 2 975-040 TORSION SPRING

14 1 337-036 G� K� 

15 2 701-008 O-RING

16 1 701-081 O-RING

17 2 830-007 SCREW — #8-32

18 2 830-042 THRU BOLT #10-32X8.83

19 1 990-067 W� HER — � EEL THRU� 

20 2 990-070 W� HER — NY� TRON

21 1 2097045 MOTOR � SEMBLY 12V 3.62 5SPC FW 36”

1 2097036 MOTOR � SEMBLY 12V 3.62 5SPC FW 42”

22 1 2032046 36” COMPOSITE TUBE

1 2032047 42” COMPOSITE TUBE

n 1 1378170 PROPELLER KIT (INCLUD�  23-26)

23 1 2091170 POWER PROPELLER 3-5/8”

24 1 2151726 W� HER — 5/16 � D SS

25 1 2053101 NUT — NYLOC 5/16

26 1 2092600 DRIVE PIN

n 1 2771818 BRACK�  & HINGE � SEMBLY (INCLUD�  30-41)

n 1 2771910 BRACK�  � SEMBLY (INCLUD�  30, 32, 33)

ITEM QTY
PART 

NUMBER
DESCRIPTION

*30 1 2061910 BRACK� 

31 1 2060510 HINGE PIN

n 2 2881300 SCREW — C� MP, W� HER, R� AINER KIT

*32 2 2061300 SCREW — C� MP

*33 2 2011710 W� HER — C� MP

34 1 2063605 P�  TIC T-BAR

35 1 2062706 T-BAR SPRING

36 1 2067201 B� CK TILT LEVER

37 1 2061810 P�  TIC HINGE

38 2 2037301 HINGE BUSHING

39 1 2062800 SNAP-IN TENSION BLOCK

40 1 2011385 SCREW — TENSION/KNOB

41 1 2060515 TILT LEVER PIN

42 1 2061520 DEPTH COL� R

43 1 2011365 SCREW — COL� R/NEW KNOB

44 1 2050610 LEADWIRE 10 GA SPADE TERM

45 2 2020702 SPADE TERMINAL 10GA.

46 2 2256300 TIE WRAP

47 1 2062515 CONTROL BOX 

48 1 2060215 CONTROL BOX COVER

49 1 2065703 DE� L COVER ENDURA C2 50

50 1 2064028 SWITCH — FWD/REV 5 SP

51 1 2033401 SCREW — #10-24 X 1-3/4

52 1 2013110 NUT — 10-24 HEX

53 6 2012100 SCREW — #8-18 X 5/8

54 1 2990919 INNER HANDLE � SEMBLY

55 1 2060405 HANDLE PIVOT

56 1 2012104 SCREW — #6 X 1/2” SS

57 1 2990928 OUTER HANDLE � SEMBLY

58 1 2060009 FRONT BEARING

n 1 2888460 SEAL AND O-RING KIT

ENDURA C2 50
50 LBS THRU�   -  12 VOLT  -  36”/42” SHA� 

n THIS ITEM IS PART OF AN � SEMBLY.
*THIS ITEM IS PART OF A KIT AND ONLY LI� ED FOR VIEWING PURPOS� .



HOW TO CONNECT THE BATTERIES
12 VOLT SYSTEMS: 

1. Make sure that the motor is switched off  (speed selector on “OFF” or “0”).

2. Connect positive ( + ) red lead to positive ( + ) battery terminal.

3. Connect negative ( – ) black lead to negative ( – ) battery terminal.

4. For safety reasons do not switch the motor on until the propeller is in the water.

CAUTION:
For safety reasons, disconnect the motor from the battery/batteries when the motor is not in use or while the 
battery/batteries are being charged.

SELECTING THE CORRECT BATTERIES
The motor will operate with any lead acid, deep cycle marine 12 volt battery/batteries. For best results, use a deep cycle, marine 
battery with at least a 105 ampere hour rating. Maintain battery at full charge. Proper care will ensure having battery power 
when you need it, and will signifi cantly improve the battery life. Failure to recharge lead-acid batteries (within 12-24 hours) is the 
leading cause of premature battery failure. Use a multi-stage charger to avoid overcharging. We off er a wide selection of chargers 
to fi t your charging needs. If you are using a crank battery to start a gasoline outboard, we recommend that you use a separate 
deep cycle marine battery/batteries for your Minn Kota trolling motor.

Advice Regarding Batteries:

• Never connect the (+) and the (–) terminals of the battery together. Take care that no metal object can fall onto the battery and 
short the terminals. This would immediately lead to a short and extreme fi re danger.

• It is highly recommended that a circuit breaker or fuse be used with this trolling motor. Refer to “Conductor Gauge and Circuit 
Breaker Sizing Table” in the previous section to fi nd the appropriate circuit breaker or fuse for your motor. For motors requiring 
a 60-amp breaker, the Minn Kota MKR-19  60-amp circuit breaker is recommended.

 minnkotamotors.com  |  9  ©2014 Johnson Outdoors Marine Electronics, Inc.

MOTOR WIRING DIAGRAM

RED+
WHITE

YELLOW

BLACK-

RED B+ BLACK B-

12 VOLT DEEP CYCLE
MARINE BATTERY

MOTOR

SWITCH

RED
W

H
IT

E

YELLOW
B

A
T

+

B
A

T-

BLACK




